BOmMBRHMEAE FM25R (20204 MK)

AR
R—Y = RES =4 #EE ®IER B 1E
06 PN (1) | ADREB—HH “H24E B ARSI — A 3,493 3,478
06 PN 1) | AOREB—HH “24E BRI — 3T 3,822 3,871
p.6 PN= (1) | AORBH—HHK “24E EESEES e A 329 A 393
06 PN 1) | ADREB—HH “H24E HABE— A — 5% 20,038 20,082
06 PN 1) | ADREB—HH “24E HAEH— A A 19,836 19,891
06 PN 1) | ADREB—HH “H24E HABH—EA—Z0M 202 191
06 PN 1) | ADRB—HH “24E MR — SR — % 18,674 18,757
06 PN (1) | ADREB—HH “24E A — SR — S 18,385 18,480
06 PN 1) | ADREB—HH “H24E HAE— 20 289 277
p.6 PN (1) | AORBH—K%K “24E AR — 1,364 1,325
n6 AQ 1) | ADREB—HH “H245—18 BRI — 4 297 309
p.6 PN=| 1) | ADEB—#HHK Si24&—2A BRI — A 309 261
p.6 PN=| 1) | ADEB—#HHK 42434 ISR IR — A 261 297
p.6 PN=| 1) | ADEB—#HHK Si2&E—4A ISR IR — A 297 302
p.6 PN=| 1) | ADEB—#HHK Si2&E—54 BRI — A 302 263
p.6 PN=| 1) | ADEB—#HH% 2464 ISR IR — A 263 293
p.6 PN=| 1) | ADEB—#HH Si2&E—-T7H ISR IR — 4 293 322
p.6 PN=| 1) | ADEB—#HHK 424 —8H BRI — A 322 294
n6 AnD 1) | ADREB—H “H246—9A BRI — 4 294 310
p.6 A0 (1) | ADEB—#HH #H2&—-10A TSR IR — 4 310 286
p.6 A0 (1) | ADEB—#HH Si2&E-118 BT AR IR — A 286 259
p.6 A0 (1) | ADEB—#HH SH2&—-12A BT AR IR — A 259 282
p.6 A0 (1) | ADEB—#HH Si2&E—18 EES A A 314 413
p.6 A0 (1) | ADEB—#HH Si24&—2A EES A A 413 305
p.6 A0 (1) | ADEB—#HH #2434 EES A A 305 339
p.6 A0 (1) | ADEB—#HH Si2&E—4A EES A A 339 311
p.6 A0 (1) | ADEB—#HH #2454 EES A A 311 303
p.6 A0 (1) | ADEB—#HH 2464 EES A A 303 296
p.6 A0 (1) | ADEB—#HH Si2&—-T7H EES A A 296 297
0.6 PN=| (1) | ADEB—#HH 24 —8H RS- A A 297 286
0.6 PN=| (1) | ADEB—#HH 24 —9A RS- A A 286 312
0.6 PN=| (1) | ADEB—#HH 25 —-10A BRERE T 312 328
0.6 PN=| (1) | ADEB—#HH SH2&E-118 RS- A A 328 318
0.6 PN=| (1) | ADEB—#HH SH2&—-12A BRERE T 318 363
p.6 PN=| 1) | ADEB—#HHK% SM2E—1H BRI — AT A 104
p.6 A0 1) [ ADEB—#HHK% HAM2E—2H BRI — A 104 A 44
p.6 PN=| 1) | ADEB—#HHK% AM2E—3H BRI — A 44 A 42
0.6 AQ (1) | AOEBH—H% SH2E—4H B AR — R A 42 A9
p.6 PN=| 1) | ADEB—#HK 2454 B SR IR — el A9 A 40
p.6 PN (1) | AORB—#H% “H246—64 EESEtE A A 40 A3
p.6 PN (1) | AOERB—H% SH26—7H EESEtE A A3 25




R—Y = RES =% #EE ¥IEE R i
p.6 A0 701) | ADRE—R% SH24—8A RS R e 25 8
p.6 PN=| 1) [ ADERB—#H% H2&E—9A BRI — 8 A2
p.6 PN=| 1) [ ADEB—#H% H26—10A BRI — A2 A 42
p.6 PN=| 1) [ ADERB—#HH% SH2&—-118 BRI — A 42 A 59
p.6 PN=| 1) [ ADEB—#H% SH2&—12A BRI — A 59 A 81
0.6 PN () | AORB—H% SH2E—15 HAMEH— A — B8 1,411 1,351
0.6 PN () | AORB— K% SH26E—2A HAMH— A — B8 1,351 1,345
0.6 PN () | AORB— K% SH24E—3 A HAMH— A — B8 1,345 3,935
0.6 PN () | AORB—H% SH2E—4A HAMEH— A — B8 3,935 2,960
0.6 PN () | AORB— K% 24 —5H HAMEH— A — B8 2,960 1,095
0.6 PN () | AORB—H% 24 —6 A HAMEH— A — B8 1,095 1,219
0.6 PN () | AORB— K% SH246E—7H HAMEH— A — B8 1,219 1,407
0.6 PN () | AORB— K% SH24E—8 A HAMH— A — B8 1,407 1,420
0.6 PN () | AORB— K% SH26E—9A HAMEH— A — B8 1,420 1,372
p.6 PN=| 1) | ADERBH—H% #5024 —108 AR —ERA — R 1,372 1,297
p.6 PN=| 1) | ADERBH—H% HF24—118 AR —ERA — R 1,297 1,226
p.6 PN=| 1) [ ADERBH—H% #F24—128 AR —ERA — R 1,226 1,455
p.6 PN=| 1) [ ADERBH—H% 245 —18 AR A —EA 1,394 1,341
p.6 PN=| 1) | ADERBH—H% 246 —28 AR A —EA 1,341 1,335
p.6 PN=| 1) | ADERBH—H% 246 —3A AR — A —EA 1,335 3,912
p.6 PN=| 1) | ADERBH—H% 246 —4A HEER A —EA 3912 2914
p.6 PN=| 1) | ADERBH—H% 24654 HEWR A —EA 2914 1,084
p.6 PN=| 1) | ADERB—H% 246 —68 AR A —EA 1,084 1,202
p.6 PN=| 1) [ ADERBH—H% 24678 AR A —EA 1,202 1,394
p.6 PN=| 1) | ADEBH—HBHK SM2E—8H HEWER A —EA 1,394 1,411
p.6 PN=| 1) | ADEBH—HB%K SM2E—9A HEWR A —EA 1411 1,355
p.6 PN=| 1) | ADEBH—HB%K #F24—108 HEWR A —EA 1,355 1,286
p.6 PN=| 1) | ADEBH—HBHK HF2&—-118 HEWER A —EA 1,286 1,208
p.6 PN=| 1) | ADEBH—HBHK HF24—128 HEWR A —EA 1,208 1,449
p.6 PN=| 1) | ADEBH—HBHK SM2E—18 HEWER A —Z DM 17 10
p.6 PN=| 1) | ADEBH—HBHK AM24E—3A HEWER A —Z DM 10 23
p.6 PN=| 1) | ADEBH—HB%K SM2E—4A HEWER— A —Z DM 23 46
p.6 PN=| 1) | ADEBH—HBK AM24E—58 HEWR— A —Z O 46 11
p.6 PN=| 1) | AOEBH—HBK AM2E—6H HEWR— A —Z O 11 17
p.6 PN=| 1) | AOEBH—HB% SM2E—T7H HEWR— A —Z DM 17 13
p.6 PN=| 1) | AOEBH—HBK SM24E—8H HEWR— A —Z DM 13 9
p.6 PN=| 1) | AOEBH—HB% AM2E—9A HEWR— A —Z DM 9 17
p.6 PN=| 1) | AOEBH—HB% #F24—-108 HEWER— A —Z DM 17 11
p.6 PN=| 1) | AOEBH—HBK HF25—-118 HEWER— A —Z DM 11 18
p.6 PN=| 1) | AOEBH—HB% HF24—128 HEWR— A —Z DM 18 6
p.6 PN=| 1) | AORB—#H% “H2&—18 AR — IR — R 1,207 1,235
p.6 PN=| 1) | AORB—#H% “H25—28 AR — IR — R 1,235 1,341
p.6 PN=| 1) | AOEBH—HB% AM24E—3A AR — IR — R 1,341 3,811
p.6 PN=| 1) [ ADERB—HK AM2E—4A AR — IR — R 3811 2,276
p.6 PN=| 1) [ ADERB—HK 245 —5H AR — IR — R 2,276 1,118
p.6 PN=| 1) [ ADERB—HK AM2E—6H AR — IR — R 1,118 1,226




R=—Y = RES =% #EE ¥IEE R 1
0.6 PN (1) | ADEH—HBHK SH26—7H A — SR — B8 1,226 1,217
0.6 PN (1) | ADEBH—HBHK “H24—8A A — SR — B8 1,217 1,423
0.6 PN (1) | ADEBH—HBHK SH246—9A A — SR — B8 1,423 1,250
p.6 A0 700) | AORH—HBH SH2E—108 AR — % 1,250 1,343
p.6 A0 701) | AOERH—HBH SH2E—118 AR — % 1,343 1,227
n.6 A0 701) | ADEH B SH2E—128 A — R — R 1,227 1,290
0.6 PN=| 1) [ ADERB—H% SM2E—1H AR — R — R 1,171 1,217
0.6 PN=| 1) [ ADEB—#H% SM2E—2H AR — R — R 1,217 1,323
0.6 PN=| 1) [ ADEB—H% SAM2E—3H AR — R — R 1,323 3,785
0.6 PN=| 1) | ADEB—H% SM2E—4H AR — R — R 3,785 2,264
0.6 PN=| 1) [ ADEB—#H% SM2E—5H AR — R — R 2,254 1,102
0.6 PN=| 1) [ ADERB—H% AM2E—6H HAIER — R — R 1,102 1,215
0.6 PN=| 1) | ADEB—#H% SM2E—T7H AR — R — R 1,215 1,191
0.6 PN=| 1) [ ADEB—H% SM2E—8H AR — R — R 1,191 1,392
p.6 PN=| 1) | ADERBH—H% SM2E—9A AR — R — R 1,392 1,220
p.6 PN=| 1) | ADERBH—H% #F24—108 AR — R — R 1,220 1,324
p.6 PN=| 1) [ ADERBH—H% HF24—118 AR — R — R 1,324 1,191
p.6 PN=| 1) [ ADERBH—H% HF24—128 AR — R — R 1,191 1,266
p.6 PN=| 1) | ADERBH—H% SM2E—18 AR — R H — 2Ot 36 18
p.6 PN=| 1) | ADERBH—H% SM2E—3A AR — R H — 2Dt 18 26
p.6 PN=| 1) | ADERBH—H% SM2E—4A AR — R H — 2Ot 26 22
p.6 PN=| 1) | ADERBH—H% SM2E—5H AR — R H — 2Ot 22 16
p.6 PN=| 1) | ADERB—H% SM2E—6H AR — R H — 2Ot 16 11
p.6 PN=| 1) [ ADERBH—H% SM2E—7H AR — R H — 2Ot 11 26
p.6 PN=| 1) | ADEBH—HBHK SM2E—8H H AR — IR H — 2Ot 26 31
p.6 PN=| 1) | ADEBH—HB%K SM2E—9A AR — IR H— 2Ot 31 30
p.6 PN=| 1) | ADEBH—HB%K #F24—108 AR — IR H— 2Ot 30 19
p.6 PN=| 1) | ADEBH—HBHK HF2&—-118 AR — IR H— 2Ot 19 36
p.6 PN=| 1) | ADEBH—HBHK HF24—128 H AR — IR H — 2Ot 36 24
p.6 PN=| 1) | ADEBH—HBHK SM2E—18 AR — 204 116
p.6 A0 (1) [ ADEB—#H% HF24—2A AR — 116 4
p.6 PN=| 1) | ADEBH—HB%K AM24E—3A AR — R 4 124
p.6 PN=| 1) | ADEBH—HBK SM2E—4A AR — 1 124 684
p.6 PN=| 1) | AOEBH—HBK AM24E—58 AR — R 684 A 23
p.6 PN=| 1) | AOEBH—HB% AM2E—6H AR — 1R A 23 AT
p.6 PN=| 1) | AOEBH—HBK SM2E—T7H AR — R AT 190
p.6 PN=| 1) | AOEBH—HB% AM24E—8H AR — R 190 A3
p.6 PN= 1) [ ADERB—H% AM2E—9A AR — R A3 122
p.6 PN=| 1) | AOEBH—HBK #F24—108 AR — R 122 A 46
p.6 PN=| 1) | AOEBH—HB% HF24—-118 AR — 1R A 46 AT
p.6 PN=| 1) | AOEBH—HBK HF24—128 AR — R Al 165
p.6 PN=| 72) | ADRB-HEREN HR24E BRI — A 2,575 2,569
p.6 PN=| 72) | ADRB-HEREN HR24E BRI T 2,563 2,596
p.6 PN= 72) | ADEH-HRBER SN2 B R ER— 18R 12 A 27
p.6 PN=| 72) | ADRB-HRBEX HR24E AP — A — % 14,486 14,557
p.6 PN=| 72) | ADRB-HRBEX HR24E HEWR— A —EA 14,344 14,423




R—Y = RES R4 #EE ¥IEE R i
p.6 PN 7(2) | ADEB-THERER 24 HABE— A —ZOM 142 134
p.6 PN 7(2) | ADEB-THEREA 24 A — IR — A% 13,491 13,511
p.6 PN 7(2) | ADEB-THERER 24 MR — SR — R 13,268 13,305
p.6 PN 7(2) | ADEB-THEREA 24 A — R — 20O 223 206
p.6 A0 72)  |AORH-TERER SN2 A — 995 1,046
p.6 PN=| 72) | ADERBH-HRBEX SM2E—1H B AR IR — A 223 230
p.6 PN=| 72) | ADERBH-HRBEX SM2E—2H B SR IR — A 230 191
p.6 PN=| 72) | ADERBH-HRBEX AM2E—3H B SRR — A 191 222
p.6 PN=| 72) | ADERBH-HRBEX SM2E—4H B SRR — A 222 214
p.6 PN=| 72) | ADERBH-HRBEX SM2E—5H B SRR — A 214 198
p.6 PN=| 72) | ADERBH-HRBEX SM2E—6H B SR IR — A 198 214
p.6 PN=| 72) | ADERBH-HRBEX SM2E—7H B SRR — A 214 244
p.6 PN=| 72) | ADERBH-HRBEX SM2E—8H B SRR — A 244 213
p.6 PN=| 72) | ADEBH-HRBEX SM2E—9H B SRR — A 213 228
p.6 PN=| 72) | ADEBH-HRBEX #5024 —108 BRI — A 228 208
p.6 PN=| 72) | ADEBH-HERBEX HF24—118 BRI — A 208 190
p.6 PN=| 72) | ADEBH-HERBEX #F24—128 BRI — A 190 217
p.6 PN=| 72) | ADEBH-HERBEX SM2E—18 BRI — ST 213 283
p.6 PN=| 72) | ADEBH-HRBEX SM2E—2H BRI — ST 283 207
p.6 PN=| 72) | ADEBH-HRBEX SM2E—3A BRI — ST 207 217
p.6 PN=| 72) | ADEBH-HRBEX SM2E—4A BRI — ST 217 219
p.6 PN=| 72) | ADEBH-HERBEX SM2E—5H BRI — ST 219 198
p.6 PN=| 72) | ADEBH-HERBEX SM2E—6H BRI — ST 198 200
p.6 PN=| 72) | ADEBH-HERBEX SM2E—7H BRI — ST 200 187
p.6 PN=| 72) | ADRBH-mERERN SM2E—8H BRI T 187 195
p.6 PN=| 72) | ADRBH-mERERN SM2E—9A BRI ST 195 219
p.6 PN=| 72) | ADRBH-mERERN #F24—108 BRI ST 219 217
p.6 PN=| 72) | ADRBH-mERERN HF2&—-118 BRI T 217 208
p.6 PN=| 72)  |ADRBH-mERERN HF24—128 BRI T 208 246
p.6 PN=| 72) | ADRBH-HERERN SF24—14 BRI — 1Rl 10 A 53
p.6 PN=| 72) | ADRBH-mERERN HF24—2A BRI — 1Rl A 53 A 16
p.6 PN= 72 | ADEH-HEBRER 42435 B AR R — R A 16 5
p.6 PN=| 72)  |ADRBH-mERERN SM2E—4A BRI — 1Rl 5 ADb
0.6 PN 7(2) | AOEH-HRIEN “H24—5H B AR R — R AB -
p.6 AB 72) | ADRB-HEREN Hi24—6H BRI — 1R - 14
p.6 PN= 7(2) | ADEH-HERER “M2E—T7H B AR R — R 14 57
p.6 PN= 72) | ADEH-HERER 424585 B AR R — R 57 18
0.6 PN 72) | AOEH-HRBEN “H245—95 B ARt — R 18 9
p.6 PN=| 72) | ADRB-HEREN #F24—108 BRI — 1R 9 A9
p.6 PN= 72) | ADEH-HERER SF2E—115 B ARt — R A9 A 18
p.6 PN= 72 | ADEH-HERER “2E—125 B ARt — R A 18 A 29
p.6 PN=| 72) | ADRB-HEREN “H2&—18 AR — A — R 1,005 946
p.6 PN=| 72) | ADRB-HEREN “H25—28 AR — A — R 946 960
p.6 PN=| 72) | ADRB-HEREN AM24E—3A AR — A — R 960 2,874
p.6 PN=| 72) | ADRB-HEREN AM2E—4A AR — A — R 2,874 2,146
p.6 PN=| 72) | ADRB-HEREN 245 —5H AR — A — R 2,146 774




R=—Y = RES =% #EE ¥IEE R i

0.6 PN=| 72) | AORBH-HERERN 2464 AR A — A% 774 877
p.6 AO 702)  |ADEHH-HTEZREN Sf2E—T78 A — A — B 877 1,055
p.6 AO 702)  |ADEHH-HEZREN Sf25E—88 A — A — B 1,055 1,033
p.6 AO 702 |ADEHH-HEZEN SfM2E—98 A — A — B 1,033 1,022
0.6 PN=| 72) | AORBH-HERERN H26—10A AR A — A% 1,022 893
0.6 PN=| 72) | AORBH-HERERN HF2E—118 AR —ERA — % 893 901
p.6 PN= 702)  |ADEH-TEZREN SHM2E—128 A —ERA— % 901 1,076
0.6 PN=| 72) | AORBH-HERERN SM2E—1H AR A —EEA 994 941
0.6 PN=| 72) | AORBH-HERERN SM2E—2H AR A —EEA 941 950
p.6 PN= 702)  |ADEH-TEZREN Sf2&E—38 AR A —EA 950 2,857
p.6 PN= 702)  |ADEHH-TEZREN Sf2E—48 AR A —EA 2,857 2,112
0.6 PN=| 72) | AORBH-HERERN SM2E—5H AR A —EEA 2,112 765
0.6 PN=| 72) | AORBH-HERERN SM2E—6H AR A —EEA 765 867
p.6 PN= 702)  |ADEHH-HEZREN Sf2E—T78 AR A —EA 867 1,046
p.6 PN=| 72) | ADEBH-HRBEX SM2E—8H AR — A —EA 1,046 1,027
p.6 PN=| 72) | ADEBH-HERBEX SM2E—9A HEER A —EA 1,027 1,011
p.6 PN=| 72) | AORBH-HERERN #F24—108 AR — A —EA 1,01 884
p.6 PN=| 72) | AORBH-HERERN HF24—118 AR A —EA 884 890
p.6 AD 702)  |ADERB-—HTEREN SH2E—128 A —SEA— A 890 1,073
p.6 IN= 7(2) | AORH-TREEN SH26E—15 HAEH— A —Z0M 11 5
p.6 PN=| 72) | ADEBH-HRBEX SM2E—2H HEWER A — 20O 5 10
p.6 PN=| 72) | ADEBH-HERBEX SM2E—3A HEWER A — 20O 10 17
p.6 PN=| 72) | ADEBH-HERBEX SM2E—4A HEWER A — 20O 17 34
p.6 IN= 702) | AORH-HREEN 24 —5H HAEH— A —Z0M 34

p.6 PN=| 72) | ADRBH-mERERN SM2E—6H HEWER A —Z DM 9 10
p.6 PN= 7(2) | AOEH-HREEN SHM25E—7H HAEH— A —Z0M 10

p.6 PN= 7(2) | AOEH-HREEN SH25E—8H HAEH— A —Z0M 9 6
p.6 PN=| 72) | ADRBH-mERERN SM2E—9A HEWER— A —Z DM 6 11
p.6 PN= 7(2) | AORH-HREEN SH26—104 HAEH— A —Z0M 11 9
p.6 PN=| 72) | ADRBH-HERERN HF2&—-118 HEWER A —Z DM 9 11
p.6 PN= 7(2) | AOEH-HREEN SH26E—125 HAEH— A —Z0M 11 3
p.6 PN=| 72) | ADRBH-mERERN SM2E—18 AR — IR — R 878 860
p.6 PN=| 72)  |ADRBH-mERERN SM2E—2H AR — IR — R 860 1,009
p.6 PN=| 72) | ADRB-HEREN AM24E—3A AR — IR — R 1,009 2,744
p.6 PN=| 72) | ADRB-HEREN AM2E—4A AR — IR — R 2,744 1,675
p.6 PN=| 72) | ADRB-HEREN AM24E—58 AR — IR — R 1,675 828
p.6 PN=| 72) | ADRB-HEREN AM2E—6H AR — IR — R 828 886
p.6 PN=| 72) | ADRB-HEREN SM2E—T7H AR — IR — R 886 863
p.6 PN=| 72) | ADRB-HEREN SM24E—8H AR — IR — R 863 1,018
p.6 PN=| 72) | ADRB-HEREN AM2E—9A AR — IR — R 1,018 925
p.6 PN=| 72) | ADRB-HERERN #F24—108 AR — IR — R 925 968
p.6 PN=| 72) | ADRB-HEREN HF24—-118 AR — IR — R 968 837
p.6 PN=| 72) | ADRB-HEREN HF24—128 AR — IR — R 837 898
p.6 PN=| 72) | ADRB-HRBEX AM2E—18 AR — R — R 852 849
p.6 PN=| 72) | ADRB-HRBEX AM2E—2H AR — R — R 849 991
p.6 PN=| 72) | ADRB-HRBEX AM24E—3A AR — R — R 991 2,722




R—Y = RES =% #EE ¥IEE R i
p.6 AO 702)  |ADEHH-—TEZEN Sf2E—48 *H AR — R — R 2,722 1,655
0.6 PN=| 72) | AORBH-HERERN 2454 AR — R — I 1,655 819
0.6 PN=| 72) | AORBH-HERERN 2464 AR — R — I 819 876
0.6 PN=| 72) | AORBH-HERERN SH2&—T7H AW — SR — I 876 843
0.6 PN=| 72) | AORBH-HERERN 24 —8A AR — R — I 843 995
0.6 PN=| 72) | AORBH-HERERN 24 —9A AR — R — R 995 900
0.6 PN=| 72) | AORBH-HERERN #F24—108 AR — R — R 900 955
0.6 PN=| 72) | AORBH-HERERN HF2E—118 AR — R — R 955 811
0.6 PN=| 72) | AORBH-HERERN HF24—128 AR — R — R 811 889
0.6 PN=| 72) | AORBH-HERERN 26 —18 AR — R H — DOt 26 11
0.6 PN=| 72) | AORBH-HERERN 24 —2A AR —ERH — DOt 11 18
0.6 PN=| 72) | AORBH-HERERN 24 —3A AR — R H — Ot 18 22
0.6 PN=| 72) | AORBH-HERERN SH2E—4A AR —ERH — Ot 22 20
0.6 PN 7(2) | AORH-HREER 24 —5H HAEH— R — 201 20 9
p.6 PN=| 72) | ADEBH-HRBEX SM2E—6H AR — R H — 2Ot 9 10
p.6 PN=| 72) | ADEBH-HERBEX SM2E—T7H AR — R H — 2Ot 10 20
p.6 PN=| 72) | ADEBH-HERBEX SM2E—8H IR — R H — 2Ot 20 23
p.6 PN=| 72) | ADEBH-HERBEX SM2E—9A AR — R H — 2Ot 23 25
p.6 PN=| 72) | ADEBH-HRBEX #F24—108 AR — R H — 2Ot 25 13
p.6 PN=| 72) | ADEBH-HRBEX HF24—118 AR — R H — 2Dt 13 26
p.6 IN= 7(2) | AOERH-TREEN SH26E—125 HAMH— R —Z 01 26 9
p.6 IN= 702) | AOEH-TREEN SH26E—15 MR — 127 86
p.6 PN=| 72) | ADEBH-HERBEX SM2E—2H & — e 86 A 49
p.6 PN=| 72) | ADEBH-HERBEX SM2E—3A & — e A 49 130
p.6 PN=| 72) | ADRBH-mERERN SM2E—4A AR — 130 471
p.6 PN=| 72) | ADRBH-mERERN AM24E—5H AR — R 47 A b4
p.6 A0 702) | ADRB-HREEN £H24—658 AR — A 54 A9
p.6 PN= 72) | ADEH-HEBRER 4M2E—7H AR — 1R A9 192
p.6 A0 702) | ADRB-HREEN £H24—858 AR — 192 15
p.6 A0 702) | ADRB-HREEN SH24E—98 R — 15 97
p.6 PN=| 72) | ADRBH-mERERN #F24—108 AR — 97 YANWAS)
p.6 A0 702) | ADRB-HREEN SH24E—118 R — AT5 64
p.6 PN=| 72)  |ADRBH-mERERN HF24—128 AR — 1 64 178
p.7 PN=| 73) | AOERB—ENHERERN HR24E BRI — A 362 366
p.7 PN=| 73) | ADOERB—ENHERERN HR24E BRI T 773 786
p.7 PN=| 73) | ADERB—ENHERERN HR24E BRI — 1R A 411 A 420
p.7 PN=| 73) | ADOERB—ENHERERN HR24E AR — A — R 2,562 2,541
p.7 PN=| 73) | ADOERB—ENHERERN HR24E HEWR— A —EA 2,527 2,507
p.7 PN=| 73) | ADERB—ENHERERN HR24E HEWER— A —Z DM 35 34
p.7 PN=| 73) | ADOERB—ENHERERN HR24E AR — IR — R 2,292 2,317
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p166 | XII HBESLUXL 106 |BEEROBR (2 AH) HRTTE— B BB (RBE) — B 63 90
p166 | XII HBESLUXIE 106 |BEEROBR (2 AH) HRTTE— B BER(ABE)—B 34 45
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) HRTE— B BEK(ABE)—& 29 45
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) HRTE—RITL BB (KBE) — B 13 28
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) HRTE— AL BEK(ABHE)—B 8 13
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) BHTE— AL BEK(ABE)—& 5 15
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) BATE—FAIL BB (KBE) — B 50 62
p166 | XII HBESLUXIL 106 |BEROBR (2 AH) BATTE—FAIL BEK(ABE)—B 26 32
p166 | XII HBESLUXIL 106 |BEEROBR (2 AH) BATTE—FAIL BEK(ABE)—% 24 30
p168 | XII HBELLUXIL 109 | KO HHTE PhH—BRRE - BE -5 4,426 4622
p168 | XII HBELLUXIL 109 | KO HHTE A BRE—BE—% 1,588 2,190
p168 | XII HBELLUXIL 109 | KO HR24E PUEY— KPR B 2,114 2,116
p186 | XII HBEHLUXIL 181 | DEXEEOFIFRR TRI0ERE BEES — % 5,850 5534
0204 | XVI FEREKUEE | 152 | TEEEREKR PHRBAMART - FHT |y 74 50
0204 | XVI FERELURE | 152 | TERERERR SHRBACHIRR) —DHT | e 215 155
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